R RTAERMBALE

#

1184 ﬁg;gmg.gg.g‘

95.10.31 HFERYF | EHfirhs§ L[ {0
97.05.06 96 % i & % 2 &8 5 10 = 17 5c § KB 1 # 31

971216 T HER ¥ 2EWH T s §HB D R0 « &30 0 H
98.12.29 98 B £ R % | BM 5 8% P § Kb o

100.9.2 1008 &R5 1 5% | < RiBAEFDLR i1
104107 6p 1045 &85 1 88 % 2= 7rcf ki 2

105.4.19 104 &R % 28 % 8= o g AKBo £ 10567 14
PSS RN S RAALIDLR §FAUE

107£47 10p 07T&R% 24 RAALIRLA BT

1084 37 5p 1075 &% % 6= 7rc§Hkah £5108%37 197
1084 &% 2=tk 4§ RAR § % AU E

10# 47 13p 1098 &R T Frcg RTEZD 58 Fw e
Nrmorgl10£50 189 110£AS 2kt imif¢%

BB

11257 TP Il ZRS 2 hirAs i L g AR AUE

43 | 22380 soEgE |- ARRGGALEY IR RABREL TR R
22 2665 %‘—:i 32 EFE 122 31 pa AE- -&Z*%‘fa,g;ﬁ
:é ggggg ﬁf_}i —E:%!’T%Eii%ﬁ-%%ffiikg;io
39 49595 %‘?%‘@ = AZBrwe 2 a1iFAR s HOE R NG
38 48900 N B2 A Rhd 2 SRRt dodnd i
37 | 48200 z D MERAAALET 1A FFFHA S B 4
36 | 47502 R TR SN S
5 ) Pl mEpempEr Fo A RENY AR5 e
34 46115 B o Bkt EWE e L F - E9Y AR F
AT 0 - BALE “*"F%éﬁ?iﬁ'ﬁ B(RZEERy
22 T ﬁﬁ j‘ AL A - BB S AR A FIRAYL) .
gcl) igggg PR *‘”‘fﬂ" Py 100 £ R (100280 1p)
29 42635 = -+ ARAALEYIIFAR > H&FH VB AR G
28 | 41945 2 f *@f% 1475 MR L T 4 | AFRIHL 4e
27 | 41250 " 7 VRSN AN S U F RT3
26 | 40550 g ﬁ;
25 | 39980 A x
24 | 39390 7 it
23 | 38818 5 &
22 | 38230 - ;ﬁ ;{;
21 | 37660 P i X
20 | 37076 4 o ¥
19 | 36504 ’ I A
18 | 35920 g ;%
17 | 35340 A =
16 | 34760 i i
15 34185 # :*F“,'/
14 | 33600 i
13 [ 33030 p
12 | 32440 -
11 | 31870 2 - 5
10 | 31280 ¥y B
9 [ 30706 | ¥ 9 s
8 | 30125 = ’ i+
7 | 29432 gﬁ B
6 | 28850 | + o L
= a4
5 | 28275 5 bs
4 | 27700 b L
3 | 27115 —
2 | 26540 0
1 25960




